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1000
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1000

TVC(cbch) (0,0,0

X~ 1 i bube+U4 / 25
- po 4138+ 0.0
p1 -34.17 + 0.00

TP delay [ns]

TVC(cbch) (0,0,4

- glaserud [ 25
— pO 41811 0.0
p1 -34.32:+ 0.00

TP delay [ns]

TVC(cbch) (O 0,8

T 1.3e+u4 /25
o pO 4239+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(Cbch) (o, O 12

- 1 nug z8ze+04 [ 25
= po 4242+ 0.0
pl -35.99 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (0,01

X- 1 i jude+U4 | 25
P e po 4144+ 0.0
pL -34.31% 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

-1 nug 1u8e+u4 / 25
k. pO 4184+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(c,b ch) (0 0,9

Tonun 2p4e+u4 [ 25
- pO 4240+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, O 13

T nug poze+ud [ 25
- pO 4255+ 0.0
pl -35.27 + 0.00

TP delay [ns]
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3000
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1000
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3000
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4000

3000
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1000

TVC(cbch) (0,0,2)

- C = 29.25 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

A~ 1 nui ogoe+u4 / 25
Fuee po 4146+ 0.0
[ p1 -34.19+ 0.00

- C = 30.09 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 0, 10

1000

- i oB1e+U4 1 25
- pO 4263+ 0.0
[ p1 -35.95+ 0.00

- Uy 133e+04 / 25
P pO 4177+ 0.0
[ p1 -33.24+ 0.00

TP delay [ns]

TVC(Cbch) (o, 0 14

S rnugyrse+ud [ 25
. pD 4240+ 0.0
[ p1 -34.96 + 0.00

TP delay [ns]
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1000
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1000
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1000

4000
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1000

TVC(cbch) (0,0,3

A~ 1 nuiL538e+U4 [ 25
Foe po 4144+ 0.0
pL -33.55+ 0.00

[ C =29.80 [ps/ch]

L

50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

~ 1 nun4.44e+04 [ 25
Fueee po 4203+ 0.0
pl -34.59 + 0.00

[ C =28.91 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T 4/1e+u4/25
- pO 4271 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0, O 15

- 1ug53ve+ud [ 25
e 4244+ 0.0
-34.29 + 0.00

[ C=29.17 [ps/ch] ]
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TP delay [ns]



TVC(c,b Ch) (o, ']-/'\91)1<e+u4/25 TVC(ch Ch) ( 0;\1r uu:!l U)Jdeﬂ)A/ZS TVC(eb Ch) ( Ox]71w2u)me+u4/25 TvC(eb Ch) ( Okl' ”“:i i)lbe*u‘”%
4000 fe” PO 4184+ 0.0 4000 fm po 4193+ 0.0 4000 e, po 4215+ 0.0 4000 e, po 4216+ 0.0
Pl 34.26: 0.00 pl  -35.08+ 0.00 b PL__ -36.02%000 Pl -36.12 0.00

- 3000

- 3000 N

3000 -1 3000

2000 4 2000 - 2000 - 2000

1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (01,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

“ g l?baeﬂjd 125 Sornar i)le+U4/25 S 249+U4 125 Trnar 2[1&*»[)4/25
4000 fom pO 4209+ 0.0 4000 Fem, pO 4216+ 0.0 4000 fme, pO 4230+ 0.0 4000 s pO 4233+ 0.0
Pl -34.47% 0.00 Pl -34.53% 0.00 [ PL_ -35.26% 0.00 Pl -34.48% 0.00
3000 4 3000 - s000 ] 3000 4
2000 g 2000 E 2000 1 2000 4
L~ = ] ] 1000 C = B L ]
wof- C = 29.01 [ps/ch] . 1000 [ C =28.36 [ps/ch ] wooF C = 29.01 [ps/ch] .
1 ' [ 1 1 "] 1 1 "
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehch=(0,1,8) TVC(E.e=(0,1,9) TVC(eh.eh=(0, 1, 10) TVC(ebe)=(0, 1, 1)
T L s3ze+04 [ 25 T 3.u1e+u4 /25 ©nuiLy3se+u4 / 25 - i gy4e+u4 [ 25
4000 pO 4211+ 0.0 4000 s pO 4228+ 00 4000 DO 4245500 4000, p0 4245+ 00
pl 3508+ 0.00 Pl -34.37: 000 L PL_ -35.32% 0.00 Pl -35.34% 000

3000

-1 3000 - 3000 - 3000 -1

2000 B 2000 4 2000 — 2000

1000 1000 -1 1000

w00~ C = 29.10 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
~ 1L puse+u4 / 25 ~ 1 nuiLbyze+ud [ 25 T L roe+u4 [ 25 -1 nui oyse+ud / 25
4000 fm, pO 4265+ 0.0 4000 [, pO 4270+ 0.0 4000 fm, PD 4254+ 0.0 4000 fe pO 4263+ 0.0
pl -37.08 + 0.00 pl -37.78+ 0.00 F pl -36.82+ 0.00 pl -36.92+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000
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2000

1000

TVC(cbch) (0,2,0

AT 1nuiasie+u4 /25
P, po 4202+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (02,4

- 1L 3uze+u4 / 25
- pO 4185+ 0.0
pl -35.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

©1nuzgoze+u4 | 25
= po 4228+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (0,212

T rnuizuzie+u4 | 25
= po 4246+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

x- 1 1ae+ud 25
., po 4196 + 0.0
pl -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

“1nui4n/e+04 [ 25
pO 4204+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T nan s 3be+ud [ 25
po 4260+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(cbch) (0,213

T inuiL g rse+ud [ 25
pO 4230+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000
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1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,2,2)

A~ 1nuizole+u4 /25
- po 4212+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

T 1nuiL447e+04 | 25
-, pO 4202+ 0.0
- pl -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1 nuiz,yuse+ud | 25
- po 4261+ 0.0
- pl -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

1w pYoe+u4 / 25
-, pD 4246+ 0.0
L pl -37.13+ 0.00

3000
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TP delay [ns]
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1000

TVC(cbch) (0,2,3

AT rnuiLsyle+ud [ 25
- po 4221+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

a1 5e+04 /25
- pO 4229+ 0.0
pL -37.17+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

T, 4u/e+u4/25
- po 4259+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

T naiL r0oe+u4 / 25
= pO 4244+ 0.0
p1 -36.94 + 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (0,3,0

A7 1 nui ooye+ud / 25
., po 4200+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (0,34

=i zuse+u4 / 25
pO 4188+ 0.0
p1 -34.813 0.00

e 4
% T
TP delay [ns]
TVC(cbch) (O 3,8

1nuz.4o8e+04 / 25
PD 4222+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (0,312

T rnuiLpgle+ud / 25
pO 4258+ 0.0
pl -36.74 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (0,3,1

AT 1 nuiL3ssoe+ud [ 25
P po 4200+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nuiL 2ype+u4 / 25
pO 4194+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T nup.oz/e+u4 /25
po 4237+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,3,13

T nuibzse+ud [ 25
pO 4249+ 0.0
-35.16 + 0.00

TP delay [ns]
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1000

TVC(cbch) (0,3,2)

1000

A~ 1nuiLoure+ud /25
- po 4213+ 0.0
L pl -36.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

- 1 nurL4u8e+04 / 25
- pO 4212+ 0.0
3 pl -36.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 3 10

© 1 nuizpyze+u4 | 25
- po 4247+ 0.0
- pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T 1L p4se+ud | 25
- pD 4269+ 0.0
L pl -36.3+ 0.0

3000

TP delay [ns]
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1000
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1000

TVC(cbch) (0,3,3

AT rnuiLsyre+ud [ 25
pm-, po 4224+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

=1 boge+u4 / 25
- pO 4225+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T a59e+u4/25
- po 4255+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

Tinuigrae+04 /25
- pO 4265+ 0.0
p1 -35.29+ 0.00

TP delay [ns]
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1000
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TVC(cbch) (0,4,0)

T L4ve+ud /25
' pO 4204+ 0.0
pl -37.02 0.00

TP delay [ns]

TVC(cbch) (04,4

- 1 1uiL.444e+04 / 25
- pO 4200 0.0
pl -36.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

©rnuiLyose+u4 / 25
pD 4221+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T 1L, rube+u4 / 25
pO 4228+ 0.0
pl -36.42+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (0,4,1

AT 1L sooe+ud [ 25
P, po 4184+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

-1 nui bzbe+u4 [ 25
pO 4202+ 0.0
pL -36.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 4,9

S 45e+Ud ] 25
po 4236+ 0.0
35+ 0.0

TP delay [ns]

TVC(cbch) (0,4,13

T nuibzye+ud / 25
pO 4236+ 0.0
pl -36.35+ 0.00

TP delay [ns]
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2000
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1000

1000

TVC(cbch) (0,4,2)

K™ 1nuioiae+04 /25
po 4220+ 0.0
pl -38.06 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (04,6

T i ro1e+04 / 25
pO 4223+ 0.0
pl -37.92+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

© 1 nuiLysze+u4 | 25
po 4258+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

T L give+u4 / 25
pD 4227+ 0.0
pl -36.65+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (0,4,3)

AT 1 nuiL, (48e+U4 | 25
po 4227+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

S nui /71e+04 / 25
pO 4218+ 0.0
pL -37.15+ 0.00

TVC(c,b ch) (0, 4

50 100
TP delay [ns]

SRR bee+U4/25
pO 4265+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nuigole+ud [ 25
pO 4236+ 0.0
p1 -37.42+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A1

1y4e+U4 [ 25
4176+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (0,5,4

- rnuLu1ze+ud / 25
4190+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,5,8

K1,

ruge+u4 /25
4181+ 0.0
-34.43+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

i

= po
p1

L.be+ud / 25
4194+ 0.0
-34.7+ 0.0

TP delay [ns]
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TVC(cbch) (0,51)

. p0

pl

AT 1L sose+ud [ 25
4176+ 0.0
-37.54+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

“rnui1b/e+u4 / 25
4180+ 0.0
-36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (0 59

pO
pl

T nu, rz3e+u4 / 25
4201+ 0.0
-35.37 + 0.00

TVC(cbch) (0,5,13

TP delay [ns]

TinuiLgo/e+ud [ 25
4201+ 0.0
-34.56 + 0.00

TP delay [ns]
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1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, po

AT 1nuiis1e+04 /25
4182+ 0.0
-36.72+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

- rnunzzoe+u4 [ 25
4191+ 0.0
-35.93 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

= pO

Tz 16ze+04 [ 25
4224+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

T L b3pe+u4 / 25
4204+ 0.0
-35.54 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,3)

18/e+U4 /25
4183+ 0.0
-36.11 + 0.00

PSS

e po
pL

TP delay [ns]

TVC(c,b ch) (0 57

E pO
pl

S nun11ge+ud [ 25

4202+ 0.0
-33.81+ 0.00

[ C =29.58 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

pl

SRR bee+U4/25
4218+ 0.0
-34.67 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

== pO

T nuioose+ud [ 25
4202+ 0.0
-35.07 + 0.00

TP delay [ns]
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2000
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4000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

AT 1nuiLo0e+u4 /25
., po 4205+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (06,4

- rnuiL419e+u4 / 25
pO 4194+ 0.0
pl -36.35:+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

1 nuz5uve+04 / 25
po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T L, r9pe+u4 / 25
pO 4223+ 0.0
pl -34.89+ 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

X- 1 L duve+ud | 25
Fee,, po 4196 + 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

=1 4vpe+04 / 25
e, pO 4178+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

-1 nuw.oYoe+u4 / 25
= po 4228+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (0,6,13

T nai rgbe+ud [ 25
= pO 4216+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

A7 1 nui Sooe+u4 / 25
o=, po 4201+ 0.0
o pl -356+ 0.0

3000

TP delay [ns]

TVC(cbch) (06,6

© 1L b44e+04 / 25
4196+ 0.0
-35.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T nug.zize+u4 | 25
. po 4252+ 0.0
L pl -37.1+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,6,14

T rnuiLbule+u4 /25
- pD 4220+ 0.0
[ p1 -35.75+ 0.00

3000

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

T onun Lase+ud [ 25
- pO 4219+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

S rnan 151e+04 /25
- pO 4193+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T, u//e+u4/25
= po 4265+ 0.0
p1 -37.44.+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nuiplve+ud [ 25
= pO 4221+ 0.0
p1 -35.5+ 0.0

TP delay [ns]
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4000

3000
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1000

0

4000
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1000

TVC(cbch) (0,7,0

A7 1 nun asae+04 /25
e po 4201+ 0.0
pl -37.38+ 0.00

TP delay [ns]

TVC(cbch) (0.7,4

- i, r8ze+04 [ 25
- pO 4221% 0.0
pl -35.38:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

©1nuz, 3gpe+u4 | 25
= po 4235+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,7,12

[ C =29.00 [ps/ch]

T 1 pe+ud /25
= po 4221+ 0.0
pl -34.48 + 0.00
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1000
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1000

TVC(cbch) (0,7,1

AT 1nuiLoL/e+ud [/ 25
P, po 4212+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

= 11U byoe+u4 / 25
- pO 4224+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

-1 nu. Ugse+ud | 25
- pO 4243+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (0,7,13

T 1 nuiL pyze+ud / 25
- pO 4237+ 0.0
p1 -36.5+ 0.0

TP delay [ns]
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1000

4000
3000
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1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,7,2)

AT 1nuioise+ud /25
- po 4234+ 0.0
o pl -37.98+ 0.00

3000
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T szze+u4 [ 25
4207+ 0.0
pl -35.35+ 0.00

TP delay

TVC(cbch) (0,124

pO
pL

[ns]

T4 /e+u4 /25
4216+ 0.0
-37.72+ 0.00

50 100
TP delay

TVC(cbch) (0o, 12 8

B pD

[ns]

1 nuiLysoe+U4 / 25
4204+ 0.0
pl -36.64 + 0.00

TP delay

TVC(cbch) (0,12, 12

B pO

[ns]

T rnuiLgs4e+u4 / 25
4219+ 0.0
pl -35.59 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

. PO

A7 Ldve+ud | 25
4216+ 0.0
-37.62:+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,125

S nuiL 3/ e+04 [ 25
4208+ 0.0
-37.18 + 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

e, po

pl

T 1 nu.z45e+04 | 25
4224+ 0.0
-36.62 + 0.00

TP delay [ns]

TVC(cbch) (012,13

- pO
p1

~ 1 nuiLpuse+ud / 25
4221+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (0,12,2)

- po

K™ 1 nui440e+04 /25
4213+ 0.0
pl -36.38+ 0.00

TP delay

TVC(cbch) (0.12,6

pO
p1

[ns]

- i blge+ud / 25
4212+ 0.0
-36.88 + 0.00

50 10‘0
TP delay

TVC(cbch) (0, 12 10

= o

[ns]

1 nuzboge+u4 | 25
4238+ 0.0
pl -36.37 + 0.00

TP delay

TVC(cbch) (0.12,14

- pD

[ns]

~ 1 nuiLpose+ud / 25
4227+ 0.0
-35.71+ 0.00
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-1 nui 4b8e+04 / 25
4206+ 0.0
pl -34.57 + 0.00

3000

2000 -

w0l C = 28.93 [ps/ch]

TP delay

TVC(ehch)=(0, 14, 11

4000 £ pO

[ns]

~ 1 nuiz 10oe+u4 / 25
4230+ 0.0
pl -36.06 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (0,14,15

4000 [u.

[ns]

T inuiylae+ud [ 25
4244+ 0.0
p1 -37.34+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 15 0)

T 1ove+u4 / 25
.. pO 4193+ 0.0
-33.61+ 0.00

[ C=29.76 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T 3r1e+u4 / 25
- pO 4209+ 0.0
pl -36.02:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

1 nuiLygoe+U4 / 25
= po 4218+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

L puze+u4 / 25
= po 4230+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

AT 1 nuiL1B4e+U4 [ 25
.. po 4193+ 0.0
pl -33.07 + 0.00

[ C=30.23 [ps/ch] . 7]
1 G

TP delay [ns]

TVC(cbch) (0,155

~ 1 nui 345e+04 / 25
e, pO 4211 0.0
pL -36.31% 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

T inue.u//e+ud [ 25
- po 4256+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

T nuin3ae+ud [ 25
= pO 4219+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

AT 1nuissre+V4 /25
- po 4216+ 0.0
o pl -35.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

- 1 nur b8ye+ud [ 25
- pO 4217+ 0.0
3 pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

1000

T 1nuzpgle+ud [ 25
-, po 4276+ 0.0
- pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

TrnuiLgsre+ud [ 25
- pD 4216+ 0.0
L -34.4+ 0.0

- C = 29.07 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1L zeoe+ud [ 25
po 4210+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

- nui s14e+04 / 25
- pO 4233+ 0.0
pL -36.59+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C=29.05[ps/ch]

T nuip43e+u4 / 25
pO 4252+ 0.0
p1 -34.43+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0, 15,15

T inaia4ze+04 /25
- po 4226+ 0.0
p1 -34.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

A~ 1nuioz/e+V4 /25
4181+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- Ui 544e+04 / 25
™, pO 4164+ 0.0
pl -35.96+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

i pgbe+u4 / 25
= po 4187+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T rnuiLgsze+u4 [ 25
= po 4200+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

AT 1 nuLosse+ud [ 25
' po 4184+ 0.0
pl -36.82 0.00

TP delay [ns]

TVC(c,b ch) (1, O

S nuiL//e+04 [ 25
pO 4173+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nu 38Ye+u4 [ 25
po 4209+ 0.0
p1 -34,55 + 0.00

TP delay [ns]

TVC(cbch) (1,0,13

~ 1 nuiL oyae+ud 25
pO 4199+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

K™ 1 nuizyoe+u4 / 25
i po 4178+ 0.0
L pl -35.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

~ i, ro9e+u4 [ 25
4183+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

T, (z3e+04 | 25
= po 4227+ 0.0
- pl -34.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T i, ro4e+04 / 25
= pD 4213+ 0.0
L p1 -37.27+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

x° 1 L bLae+U4 [ 25
pe=, po 4201+ 0.0
pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nui yzve+u4 [ 25
e, pO 4193+ 0.0
pL -36.28+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

Ty ase+u4/25
= po 4235+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

Tanan L oe+ud [ 25
= pO 4206+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

AT ryre+u4 /25
P po 4175+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (11,4

- i ba8e+04 / 25
4174+ 0.0
-35.61+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 1,8

T Lb/e+ud /25
- pO 4194+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T, r3oe+u4 / 25
4210+ 0.0
-36.3+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT rnuiLolye+ud /25
., po 4195+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui 3gbe+u4 / 25
pO 4192+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

- C =29.19 [ps/ch]

T nuw, rZoe+u4 [ 25
po 4218+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T nain4ze+ud [ 25
pO 4202+ 0.0
-36.71+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

K™ 1 nuiLoioe+ud /25
- po 4194+ 0.0
o pl -35.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

Tnun1bae+04 /25
[F-e. pO 4201+ 0.0
- pl -35.95 + 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- C = 29.10 [ps/ch]

Tz 3rge+u4 | 25
-, po 4226+ 0.0
L pl -34.37 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

1 nuiLpyve+u4 / 25
= pD 4212+ 0.0
+ pl -36.75+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT rnuiL4rse+ud [ 25
P, po 4202+ 0.0
pl -34.91+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

-1 nu 388e+u4 / 25
- pO 4201+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuiL g /oe+u4 [ 25
- po 4229+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

-1 nui oyae+ud / 25
= pO 4203+ 0.0
p1 -35.19+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

K™ 1 nui4sye+04 /25
4194+ 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,24

- i 335e+04 / 25
e, pO 4212+ 0.0
p1 -35.79.+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

©nuz1use+u4 / 25
= po 4196+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T i, rooe+u4 / 25
= po 4239+ 0.0
pl -36.65+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

A1 1L 4aoe+Ua | 25
' po 4194+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

~1nui4p/e+04 / 25
pO 4230+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T inun.UL/e+ud [ 25
po 4217+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(cbch) (1,213

T inuinrae+ud [ 25
pO 4238+ 0.0
pl -37.16 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

A7 nun suse+u4 / 25
po 4208+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (1,26

- i bzge+u4 [ 25
pO 4239+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

Tz zzze+04 | 25
po 4227+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T rnuiLgl4e+04 / 25
pD 4238+ 0.0
pl -36.14 + 0.00

TP delay [ns]
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4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1 nuiL4oe+ud [ 25
- po 4202+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nun bze+u4 / 25
- pO 4235 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

AN ub4e+u4/25
e pO 4249+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T inuiorye+ud [ 25
e pO 4234+ 0.0
p1 -36.12+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

AT 1nuiLyize+ud /25
4205+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T L4 ze+04 [ 25
e pO 4199+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T rnuz4e+04 /25
- po 4229+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T i Eze+u4 / 25
- po 4192+ 0.0
pl -33.32+ 0.00

[ C =30.01[ps/ch] % 1

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

= po

A7 1 nuiLbuse+ud [ 25
4206+ 0.0
-35.73+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nuiL y3ye+ud / 25
E pO 4230+ 0.0
pL -38.38+ 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (1 3,9

T nuigg3ae+u4 /25
- pO 4247+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (1,3,13

Tinai 4ze+u4 [ 25
feee. 4194+ 0.0
-33.44+ 0.00

[ C =29.90 [ps/ch] ]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

A"

po
pl

1 nui, ryoe+ud / 25
4209+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (1,36

- rnuLyule+ud / 25
3 pO 4230+ 0.0
[ pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

© 1 nuiLygbe+u4 / 25
. po 4269+ 0.0
- -35.8+ 0.0

TP delay [ns]

TVC(cbch) (1,314

- nar 2.3 u9 /25
-, pO 4192+0.7
[ pl -33.4£ 0.0

- C = 29.94 [ps/ch] ™. 1

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

po

p1

AT 1L Bsse+ud [ 25
4224+ 0.0
-36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

- nun gr3e+u4 / 25
- pO 4235 0.0
pL -37.82:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T, /zye+u4/25
- po 4252+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nui rbae+ud [ 25
= pO 4198+ 0.0
-34.01+ 0.00

[ C =29.40 [ps/ch]

50

1
100

TP delay [ns]
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4000

3000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

X~ 1L slie+ud [ 25
- po 4219+ 0.0
pl -38.26 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

-1 bz4e+04 [ 25
[, PO 4202+ 0.0
pl -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

©nuz5use+u4 / 25
- pO 4242+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (1,412

T L gsve+u4 / 25
= po 4207+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1 nuiLsble+ud [ 25
F po 4224+ 0.0
pl -38.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1 nuiLaype+ud / 25
== po 4216+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

-1 nus. yuoe+ud | 25
- po 4269+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

<1 nuiL oyve+ud / 25
- pO 4217+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

A7 1 nui sooe+u4 / 25
po 4226+ 0.0
pl -37.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,4,6

T L4 4e+04 | 25
- pO 4221+ 0.0
- pl -36.44 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T nuzp3se+ud | 25
- DO 4289+ 0.0
- pl -37.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

T plie+ud / 25
- pD 4219+ 0.0
L p1 -35.74+ 0.00

3000

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

p1

AT 1L sose+u4 [ 25
4228+ 0.0
-37.63+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

S nun 1 pbe+ud [ 25
4227+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO
pL

1)
T nuiz.y/ae+u4 [ 25
4277+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

SRR

e po
p1

(8ae+u4 | 25
4211+ 0.0
-36.12+ 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

A1

e, p0
pl

bure+u4 /25
4190+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(cbch) (1,5,4

bl/e+U4 /25
4223+ 0.0
-35.94 + 0.00

— po/ i,
p1
FC N
1 1 "
50 100
TP delay [ns]
TVC(ebeh)=(1,5,8)
T rnuzpsse+ud | 25
- po 4234+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (1,5,12

- 1 nuiL yose+ud [ 25
4251% 0.0
-35.9+ 0.0

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

A 1L dbzerud | 25
F... po 4195+ 0.0
pL -35.4+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 5

- nui bzye+u4 [ 25
pO 4224+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T naiLgu/e+us / 25
- pO 4258+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

Tinairo1e+ud /25
- pO 4247+ 0.0
pl -35.75+ 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

A1

po
pl

L.oe+ud /25
4200+ 0.0
-35.64 + 0.00

TP delay [ns]

TVC(cbch) (1,56

P~ b

pl

1L b49e+04 / 25
4241+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

0

= o

- 11U p44e+04 [ 25
4272+ 0.0
-36.89 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,514

-~ o

T nuiLgsze+u4 [ 25
4245+ 0.0
-35.46 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C =28.54 [ps/ch

A~ nuiLYz3e+ud [ 25
= po 4209+ 0.0
pL -35.03+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

- nui obe+u4 / 25
- pO 4242+ 0.0
p1 -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

AN bue+u4/25
- po 4280+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

- vz3e+ud [ 25
- pO 4256+ 0.0
p1 -35.57 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A1

. p0
pl

Broe+ud | 25
4192+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (1,64

- 1 1uiL449e+04 / 25
4219+ 0.0
-36.72+ 0.00

e, PO
p1
FC ]
| L -'
50 100
TP delay [ns]
TVC(cbch) (1,6,8)
1 nuiLgEYve+U4 / 25
- po 4220+ 0.0
pl -34.79 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

A1,

ro0e+U4 /25
4231+ 0.0
-37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

[ po

A1 (ave+U4 | 25
4197 + 0.0
-36.59+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 6

“nun1.40e+04 / 25
4216+ 0.0
-36.17 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1 6,9

[, pO

~ 1 nuig.agye+ud / 25
4240+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (1, 6 13

Tinairy1e+ud [ 25
4227+ 0.0
-36.39+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

1000

TVC(cbch) (1,6,2)

A1y,

= PO

pl

ruze+u4 [ 25
4204+ 0.0
-37.42+ 0.00

TP delay [ns]

TVC(cbch) (16,6

= P°

pl

© i bane+04 / 25
4219+ 0.0
-35.63 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

- b

-1 nuiL g rye+u4 [ 25
4256+ 0.0
-34.98 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

1 i pose+u4 [ 25
4221% 0.0
p1 -36.02:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

p1

A~ 1 nuiL, 7uze+ud [ 25
4211+ 0.0
-35.83+ 0.00

TVC(c,b ch) (1 6,7

pO
pl

1
100

TP delay [ns]

S nun 15ze+04 [ 25
4218+ 0.0
-35.08 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

- g -;,549+u4/25

4245+ 0.0
-34.63+ 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (1, 6 15

- ss1e+u4 [ 25
4213+ 0.0
-36.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0

A~ 1 444e+04 /25
. po 4184+ 0.0
pl -35.39 0.00

TP delay [ns]

TVC(cbch) (17,4

Tnun 1 31e+04 / 25
= pO 4196+ 0.0
p1 -36.75+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1,7,8

©1nuiz,0use+u4 / 25
po 4218+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T rnuiLzuze+u4 | 25
4226+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,71

AT 1 rzze+ud [ 25
Fee,, po 4202+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

= 1 nuiL Supe+ud / 25
== po 4194+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

~ g yage+u4 [ 25
= po 4220+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,7,13

T nui sve+ud 25
— pO 4229+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

A~ 1 nuiLoooe+u4 / 25
= po 4194+ 0.0
L pl -35.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

-1 i bsze+u4 [ 25
- pO 4239+ 0.0
[ pl -36.97 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

© 1 nuiz,uzoe+u4 | 25
o=, po 4228+ 0.0
L pl -35.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

T rnuiLzule+u4 / 25
- pD 4223+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

AT 1L byoe+ud [ 25
- po 4212+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

Ui 711e+04 /25
= po 4221+ 0.0
pl -37.25+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 7

1)
Tonan 1 p4e+u4 [ 25
= po 4238+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,15

Tinais4/e+04 /25
4231+ 0.0
-35.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

X~ 1w bsoe+U4 [ 25
™, Y 4173+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (1,84

- i 3y1e+u4 / 25
- pO 42131 0.0
pl -37.79.+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

T 1nuizuLze+u4 | 25
- PD 4204+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T anuiL, (uze+u4 | 25
- PO 4238+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nuiLroye+ud [ 25
[, PO 4201+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

“onar 1.4e+04 /25
4204+ 0.0
-37.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1 8,9

T nai g oe+ud [ 25
- DO 4231+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (1,813

T 3/ze+u4 [ 25
- PO 4220% 0.0
pl -35.24 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

X1 L se+ud [ 25
- PO 4203+ 0.0
r pl -36.59 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,86

T L4 re+04 [ 25
- PO 4208+ 0.0
r pl -37+ 0.0

3000

TP delay [ns]

TVC(cbch) (1, 8 10

1 nuizbyve+u4 | 25
- DO 4242+ 0.0
r pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

TnuiL410e+U4 /25
- PD 4237+ 0.0
I pl -36.99 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3

R~ 7oae+ud [ 25
e Y 4207+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

- nui by e+u4 [ 25
= PO 4209+ 0.0
pL -37.11+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

SRR ause+u4/25
- pO 4235+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T uze+u4 [ 25
- PO 4237+ 0.0
pl -35.79 + 0.00

TP delay [ns]



TVC(ehe)=(1,9,0) TVCEbe)=(1,9,1) TVC(ehe)=(1,9,2) TVC(Ebe)=(1,9,3)
A~ 11 byve+u4 [ 25 AT 1 3yse+ud | 25 A” 1L b48e+04 [ 25 A~ 1 plae+ud | 25
4000 e, po 4195+ 0.0 4000 fmee,, pO 4206+ 0.0 4000 e, po 4201% 0.0 4000 po 4234% 0.0
Pl -36.09+ 0.00 pl -35.8:+ 0.0 b PL__ -3619%000 pl  -38.05: 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 — 1000 E 1000 - 1000 [

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,4) TVC(cbch) (1,9,5) TVC(cbch) (1,9,6) TVC(cbch) (1,9.7)
S i 1.39e+04 /25 ~1nui buse+u4 [ 25 -1 nuiL440e+04 / 25 -1 nui Zgae+u4 [ 25
4000, pO 4210+ 0.0 4000 e, pO 42231 0.0 4000 e pO 4229+ 0.0 4000 e, pO 42341 0.0
pl -36.23 + 0.00 pL -36.69 + 0.00 3 pl -36.91+ 0.00 -36:+ 0.0
3000~ B 3000 B 3000 — — 3000 B
2000 - 4 2000 - 2000 — — 2000 -
woof C . 1000 . wof C = 27.09 [ps/ch . 1000 .
0 EY 00 - 0 0 EY o 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
TnunLoze+u4 /25 -1 nub, 2z88e+u4 [ 25 ©1nuz z90e+04 / 25 - i byye+u4 / 25
e pO 4181+ 0.0 4000 pO 42134 0.0 e DO 4230+ 0.0 4000 4222+ 0.0
pl -33.91+ 0.00 pL -34.65+ 0.00 [ pl -35.56+ 0.00 -34.1% 0.0
3000 - - 3000 B 3000 - 3000 E
2000 - 2000 B 2000 ' 2000 T

- 1000

w00 C = 29.49 [ps/ch] lo00F C = 29.32 [ps/ch] ]

- 1000

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
T, (zge+ud [ 25 T ayse+ud [ 25 T i b43e+U4 [ 25 - i gove+u4 [ 25
e pO 4207 00 4000 [ 41954 0.0 4000 PD 4201+ 0.0 4000, 4209+ 0.0
pl -34.73+ 0.00 -34.12+ 0.00 : pl -35.29+ 0.00 -34.25+ 0.00
3000 B 3000 [ — 3000 - 3000 [ B
2000 1 2000 [~ - 2000 ' 2000 B
] ok C =29.31 [ps/ch]™_ 7 L ] woF C =29.20 [ps/ch]™_ 1
PR R SR | -.- L PR R SR | -.-
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,10,0)

TrnuiLsyre+ud [ 25
e, PO 4197+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

T i z31e+u4 / 25
- pO 41851 0.0
pl -34.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 8

1 nuz 3yge+u4 | 25
- PD 4230+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.53 [ps/ch]

~ i ssye+ud / 25
- PO 4223+ 0.0
-33.87 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,10,1)

A1 1 2se+ud | 25
[, po 4214+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

“ i zlle+ud [ 25
- DU 4186+ 0.0
pL -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (1,10,9

<1 nuis.oYoe+u4 / 25
- DO 4235+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (110,13

T 3/oe+u4 [ 25
= po 4228+ 0.0
pl -32.93+ 0.00

[ C =30.37 [ps/ch] ™, 7
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,10,2)

X~ 1w syve+U4 [ 25
- PO 4201+ 0.0
I pl -34.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

-1 zog4e+u4 [ 25
- pO 4205 0.0
I pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

© L gyse+u4 / 25
- DO 4253+ 0.0
F pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (110,14

~ i puse+ud / 25
- PD 4228+ 0.0
F pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,10,3)

AT nuiLzz3e+u4 [ 25
- PO 4198+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

T 3bze+ud [ 25
- PO 4218+ 0.0
Pl 3568+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

<1 nuiL gyse+u4 / 25
- pO 4278+ 0.0
pl -38.26 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T bzge+u4 [ 25
= 2212+ 0.0
-33.66+ 0.00

[ C=29.71 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,11,0)

X~ 1w ruLe+U4 /25
- po 4201+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (1,114

-1 38ze+04 / 25
- pO 4206+ 0.0
pl -35.77 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 11,8

iU b /e+u4 [ 25
- PD 4228+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 1 bave+U4 [ 25
- Y 4241+ 0.0
pl -36.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,11,1)

A7 1 nuiLoyze+u4 [ 25
- po 4211+ 0.0
pl -36.4 £ 0.0

TP delay [ns]

TVC(cbch) (1,11,5

- Hulidhe+04/25
- DU 4202+ 0.0
pL -36.01+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

<1 nu.4bbe+ud / 25
- DO 4254+ 0.0
pl -37.57 + 0.00

TP delay [ns]

TVC(cbch) (1,11,13

- 1L bade+ud [ 25
pO 4239+ 0.0
pl -36.53 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,11,2)

X~ 1L suve+U4 [ 25
- po 4226+ 0.0
F pl -37.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

=1 nuiL byze+u4 [ 25
- pO 4221 00
H PL_ -36.08+ 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

Tnu3r4e+04 /25
- DO 4272+ 0.0
3 Pl -36.87%0.00

TP delay [ns]

TVC(cbch) (1,11,14)

- Love+ud [ 25
- PD 4235+ 0.0
F pl -37.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1 nuiLbole+u4 / 25
- PO 4228+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui babe+u4 / 25
- PO 4230+ 0.0
Pl -35.96+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

-1z, yoye+u4 / 25
= p0 4275+ 0.0
pL -36.99+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T b3Le+u4 / 25
- pO 42454 0.0
pl -37.46+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

© i syoe+u4 / 25
P pO 4154+ 0.0
p1 -34.69 + 0.00

TP delay [ns]

TVC(cbch) (1,124

T rnuan1.39e+04 /25
- pO 4172+ 0.0
pl -35.16+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

©1nuizguze+u4 | 25
- po 4197+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T 1 pe+ud /25
pO 4194+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nuiLzoze+ud [ 25
peoe.. po 4163+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (1,125

=1 nui 3yse+u4 [ 25
- pO 4185+ 0.0
pL -35.47 + 0.00

TP delay [ns]

TVCEbeh)=( 1, 12,9

T nun, y1e+ud [ 25
= po 4202+ 0.0
p1 -34.25+ 0.00

[ C =29.20 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (112,13

- Tonun L oge+ud [ 25
= pO 4192+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

K™ 1nuiso1e+04 /25
==, po 4173+ 0.0
L p1 -34.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (1126

- rnuiL491e+04 / 25
e pO 4184+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

1000

1 nuz 3obe+u4 / 25
= po 4224+ 0.0
L p1 -35.49+ 0,00

TP delay [ns]

TVC(cbch) (112,14

~ 1 nuiLpose+u4 / 25
pD 4208+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnunLgzze+ud [ 25
- po 4179+ 0.0
p1 -34.36 + 0.00

TP delay [ns]

TVC(c, bch) (1,127

- nui b3/e+04 / 25
- pO 4198+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 11

T nuiL rope+u4 / 25
= po 4216+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T inui oy /e+ud [ 25
pO 4196+ 0.0
-35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (1,13,0)

X~ 1y 457e+04 [ 25
4205+ 0.0
p1 -37.48+ 0.00

po

TP delay

TVC(c,b ch) (1, 13 4

[ns]

-1 i byye+u4 / 25
4211+ 0.0
-35.2+ 0.0

3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (1,13,8)
T nuiLyize+u4 / 25
4000 [ pD 4195+ 0.0
p1 -34.22+ 0.00
3000 - ]
2000 = ]
10r C =29.23 [ps/ch]™,_ 7
1 1 -
b 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(c,b ch) (1, 13 12

B pO

- i gyre+u4 [ 25
4252+ 0.0
pl -36.53+ 0.00

TP delay

[ns]

TVC(chh) (1,13,1)

X110 7ae+U4 | 25
4205+ 0.0
-36.91% 0.00

pl

4000f po

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (1,13,5

X~ 1,

4000

131e+04 125

4225+ 0.0
-35.57 + 0.00

3000 -

2000

oo C = 28.11 [ps/ch]

1
50 00

TP delay [ns]

TVCEebe)=( 1, 13,9

4000 5 pO

pl

T nuigbloe+ud / 25

4253+ 0.0
-34.72+ 0.00

3000 -

2000

100 C = 28.80 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 13 13

4000 e PO

T nui guve+ud 25
4254+ 0.0
-36.87 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (1,13,2)

o, PO

X~ 1 b 58 /e+U4 [ 25
4205+ 0.0
p1 -36.78+ 0.00

TP delay

TVC(c,b ch) (1, 13 6

[ns]

T, r52e+04 / 25
4234+ 0.0
-36.18 + 0.00

- b
L pl
[ C=27.64 [ps/ch
5(') 10'0
TP delay

TVC(Ee b eh)=( 1, 13, 10

pO
pl

[ns]

T, 143e+04 | 25
4265+ 0.0
-36.34 + 0.00

TP delay

TVC(c,b Ch) (1, 13 14

F= P"

[ns]

-1 i po3e+ud [ 25
4237+ 0.0
p1 -36.11+ 0.00

TP delay

[ns]

TVC(Cbch) (1,13,3)

3000

2000

1000

AT 1 nuir420e+04 [ 25
4000 7 po 4227+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 7

4000 G

3000

2000

1000 C

= nuiL r8ze+04 | 25
po 4239+ 0.0
p1 -36.34 + 0.00

50 160
TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [Gue.

3000

2000

1000

T inuzus/e+ud [ 25
pO 4259+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 15

4000 [,

3000

2000

1000

- i yu3e+ud [ 25
pO 4257+ 0.0
p1 -37.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

T s41e+04 /25
.. pO 4201+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (1,144

= 1 buse+u4 / 25
e pO 4178+ 0.0
pl -35.82:+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

— T nuz s1ge+u4 / 25
- po 4173+ 0.0
-33.18 + 0.00

[C=230.14 [ps/ich] ™. ]

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

1L pude+ud | 25
= po 4261+ 0.0
pl -36.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

K™ 1L go1e+ud [ 25

P, po 4194+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c, bch) (1,145

-1 1UL.463e+U4 | 25
™, DU 4191+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T nuw s24e+04 / 25
= po 4199+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (114,13

T nuiv4se+ud [/ 25
= pO 4254+ 0.0
p1 -37.4% 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

TP delay [ns]

TVC(cbch) (1,146

A7 1 nuiL430e+04 /25
__- po 4213+ 0.0
L pl -36.69+ 0.00

3000

-1 nuiL45ze+04 [ 25
4175+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

©1nuizzuse+u4 [ 25
= po 4223+ 0.0
- pl -34.82+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

T gr1e+u4 /25
- pD 4262+ 0.0
L pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

A~ 1 L adae+Ud | 25
P, po 4230+ 0.0
pL -37.06+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

“nun159e+04 [ 25
- pO 4199+ 0.0
pL -36.18+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

~ 1 nuiL pble+ud / 25
= po 4213+ 0.0
-34.26 + 0.00

[ C=29.19 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

T nui pzae+ud [ 25
= pO 4256+ 0.0
p1 -36.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuiLpbb/e+u4 [ 25
pO 4206+ 0.0
pl -37.96+ 0.00

L=
100

TP delay [ns]

TVC(cbch) (1,154

-1 nuiLba3e+ud / 25
pO 42254 0.0
p1 -36.45+ 0.00

- C -
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1, 15 8

T L, r48e+04 / 25
PD 4226+ 0.0
p1 -35.24 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T i, ry4e+04 | 25
pO 4233+ 0.0
pl -35.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

AT rnunLruze+ud [ 25
po 4208+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (1,155

=1 nui buge+u4 [ 25
pO 4229+ 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c, bch) (1, 15 9

~ 1 nug vbae+ud / 25
po 4259+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (115,13

T inai48e+ud / 25
pO 4229+ 0.0
-35.41+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (1,15,2)

K™ 1nui/10e+04 /25
po 4229+ 0.0
pl -38.18 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

-1 i bBge+u4 / 25
pO 4230+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

T z4ze+u4 /25
po 4273+ 0.0
p1 -37.14 + 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

T3 re+u4 [ 25
pD 4237+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

AT 1L obse+ud [ 25
po 4218+ 0.0
p1 -36.8+ 0.0

TP delay [ns]

TVC(c, bch) (1,157

-1 nui 3bae+u4 / 25
pO 4231+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(ehch)=(1, 15, 11

T nuiLy1ve+ud [ 25
po 4291+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1,15,15

T nai r9ye+ud [ 25
pO 4236+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



TVC(ehe)=(2,0,0) TVC(Ebe)=(2,0,1) TVC(ehe)=(2,0,2) TVC(ehe)=(2,0,3)
A~ 1 psze+ud [ 25 A~ 1L prse+ud | 25 A~ 1L broe+ud [ 25 a1 4ze+u4 | 25

4000 po 4206+ 0.0 4000, po 4221+ 0.0 4000, po 4214+ 0.0 4000 e, po 4208+ 0.0
Pl -37.56+ 0.00 pl_ -37.39 0.00 [ Pl -36.46% 0.00 Pl -36.24 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 =1 2000

1000 7 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

S l)ble+U5 125 T rnar 2d54&+u5 125 ~ 2aoe+u5 125 Trnar J)USEH)5125
4000 pO 4192+ 0.0 40008 DU 4195+ 0.0 4000 [, pO 4213+ 0.0 4000 fe pO 4212+ 0.0
Pl 34,60+ 0.00 -34.39 ¢ 0.00 L Pl -35.32: 0.00 Pl 3457000
3000 R 3000 [ . a000 |- ] 3000 B
2000 — 2000 |- - 2000~ ] 2000 7
o B - ] 1000 C = 7 1000+ C = ]
1000 C 1000 C = 29.08 [pS/Ch] : C=28.32 [pS/Ch ] C =28.93 [pS/Ch] 2
1 1 ! 1 1 - : 1 1 - 4 L 1 -
50 00 50 100 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 1 nuiLYype+u4 / 25 4000 1 nuig syve+ud | 25 4000 T 3r3e+u4 | 25 T rnug yz::e+u4/25
- PD 4188+ 0.0 = DO 4201+ 0.0 F 4227+ 0.0 4000 pom, pO 4236+ 0.0
pl -34.96 + 0.00 pl -35.78 + 0.00 r -36.3+ 0.0 pl -36.07 + 0.00

- 3000

3000 -1 3000 =1 3000 -1

2000 g 2000 E 2000 - 2000

1000 ] 1000 E 1000 = 1000

0 1

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
~ i byze+u4 / 25 T inai 45e+u4 / 25 T L gsse+u4 [ 25 T inuiL g roe+ud [ 25
4000 pO 4206+ 0.0 4000 . pO 4222+ 0.0 4000 PD 4219+ 0.0 4000 o, pO 4205+ 0.0
pl -34.32+ 0.00 pl -35.6 + 0.0 + pl -35.04 + 0.00 pl -34.52 + 0.00

- 3000

3000~ -1 3000 . 3000 .

2000 - 2000 N 2000 - 2000

1000 N 1000 N 1000

o C = 29.14 [ps/ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

K71 nuig so0e+U4 / 25
p— po 4221+ 0.0
p1 -40.21+ 0.00

()
50 100

TP delay [ns]

TVC(cbch) (21,4

- L az9e+04 | 25
- pO 4179+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

T rnuzbe3e+U4 / 25
PD 4217+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (21,12

T 1o1e+ud /25
= po 4206+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (21,1

T g se+ud [ 25
[ pO 4215+ 0.0
p1 -39+ 0.0

[ C =25.64 [ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 1,5

=1 i bobe+u4 / 25
Frwe pO 4194+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

. V‘Ul44bbe+U4/25
- pO 4243+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (21,13

Tinairz/e+ud [ 25
- pO 4227+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,1,2)

TP delay [ns]

TVC(cbch) (2,1,6

AT 1nuszyre+ud /25
Fuu po 4220+ 0.0
p1 37.8+ 00

I C =26.46 [ps/c 7

L 3 1

-]

| L=
50 100

1 1urL.480e+04 [ 25

P, po 4198+ 0.0
[ pl -35.74+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

1000

© 1 nuiL4sze+04 [ 25
- po 4243+ 0.0
- pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (21,14

~ 1L poye+u4 / 25
n pD 4222+ 0.0
[ p1 -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3

AT s lole+ud [ 25
Facee po 4229+ 0.0
pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

-1 nui baye+ud / 25
E pO 4198+ 0.0
pL -35.66+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 1

T 4u/e+u4/25
- pO 4248+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (21,15

T nai szze+u4 [ 25
- pO 4204+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0

X~ 1w ssbe+U4 [ 25
[, PO 4176+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(cbch) (2,24

- L5 5e+04 / 25
P, pO 4197+ 0.0
pl -37.21+ 0.00

[ C =26.87 [ps/c ]
5(‘) 10‘0 =

TP delay [ns]

TVC(cbch) (2,2,8

1 nuiLyooe+u4 / 25
= PD 4191+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (2,212

T, r3se+ud / 25
- PO 4237+ 0.0
pl -37.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1

A1 Ui 4s0e+Ud [ 25
- Y 4188+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (2,2,5

'V”Ul14ye+04/25
-, Y 4183+ 0.0
pL -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

~ 1 nuig ygse+ud / 25
DO 4235+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (2,213

T 4z0e+04 [ 25
PO 4222+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,2,2)

X~ 1 i sube+U4 [ 25
- po 4193 0.0
r pl -36.65 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,2,6

- /UL 6U3e+V4 | 25
- pO 4198+ 0.0
I pl -36.98 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2,2, 10

1 nuizyeve+ud | 25
- DO 4228+ 0.0
r pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,214

- i o8 /e+04 ] 25
- PD 4228+ 0.0
I pl -36.89 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3

R~ 1 Ui 4yae+ud | 25
= Y 4205+ 0.0
pl -37.54 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-1 nui bzge+u4 / 25
= PO 4201% 0.0
pL -36.88  0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 2

AL /me+u4/25
- pO 4220+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(C, bch) (2,215

T bzge+u4 [ 25
- PO 4222+ 0.0
pl -35.64 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

A1

4se+u4 25
4207+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(cbch) (23,4

- i 34ze+04 [ 25
4209+ 0.0
-36.52+ 0.00

= po
pl
e 4
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (2 3,8
e pD

©1nuiz.4yze+04 | 25
4227+ 0.0
-36.95+ 0.00

TP delay [ns]

TVC(cbch) (2,312

T rnuiLzyse+u4 | 25
4229+ 0.0
-34.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

29ve+u4 [ 25
4215+ 0.0
-36.43+ 0.00

ST

e, po
pl

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui 3ose+u4 / 25
4197+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

~ 1 nug.Usae+ud / 25
4259+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(cbch) (2,313

T nui vzae+ud [ 25
4227+ 0.0
-34.74+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

= PO

pl

A” 1L 444e+04 | 25
4210+ 0.0
-36.14 + 0.00

TP delay [ns]

TVC(cbch) (23,6

= P°

p1

-1 i 4pze+04 [ 25
4218+ 0.0
-35.86 + 0.00

TP delay [ns]

TVC(cbch) (2, 3 10

- o

©1nuzpyse+ud | 25
4269+ 0.0
-36.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,314

T nuiLb34e+04 [ 25
4227+ 0.0
pl -34.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

4o0e+u4 [ 25
4208+ 0.0
-35.84+ 0.00

PSR

e po
pL

TP delay [ns]

TVC(c,b ch) (2 3,7

b= pO
pl

-1 nui 4p9e+04 / 25
4197+ 0.0
-35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T aque+u4/25
4258+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(C, bch) (2,315

T nui b3ye+ud [ 25
4228+ 0.0
-35.93+ 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
K 1 Suse U4 ] 25 X 1L dsoe+ud | 25 K- 1 So0e 04 1 25 A~ 1L bo1e+Ud ] 25
4000 fme, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, po 4198+ 0.0 4000 fe, po 4220+ 0.0
Pl -34.93: 0.00 Pl -34.47%0.00 [ Pl -35.28% 0.00 pl -36.3+ 0.0

- 3000

3000 - 3000 =1 3000

2000 E 2000 - 2000 - 2000

1000 - 1000 4 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2.4, TVC(cbch) (24,6 TVC(c, bch) (24,

“ g :?Utseﬂ)d 125 T rnar 2/HE+04/25 “ g b)‘Jbe+U4 125 T rnar ‘;?SSEH)A/ZS
4000 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
358+ 0.0 Pl -35.84% 0.00 3 pl -36.77+ 0.00 Pl -36.28+ 0.00
3000 B 3000 [ — 3000~ — 3000 B
2000 E 2000 [ E 2000 ] 2000 B
1000 ] 1000~ C 1 wool- C = 27.19 [ps/ch 7 wool- C = 27.56 [ps/ch ]
1 - 1 - o 1 " o 1 [
50 100 50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nuiL, (use+u4 / 25 T yzge+u4 [ 25 T nu1g/e+04 /25 T ab9e+u4/25
4000 4245500 4000 pO 4260+ 0.0 4000 fom DO 4276+ 00 4000, p0 4280+ 0.0
Pl -38.28+ 0.00 Pl -37.32: 000 L PL_ -37.19: 0.00 Pl -37.53: 000

-1 3000

m
o
S

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000 -1 1000 - 1000

I I [
% 50 00 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T rnuiLb4ze+04 /25 Tinuiarze+ud [ 25 ~ 1 nuiLbyse+u4 [ 25 T nui oose+ud [ 25
4000 fm, pO 42451+ 0.0 4000 4230+ 0.0 4000 PD 4233+ 0.0 4000 4237+ 0.0
-34.58 + 0.00 -35.01+ 0.00 I pl -35.08 + 0.00 -35.01+ 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

-1 1000

10r C =28.92 [ps/chl™, 7 1000 . y 1000 ]
P B | -.- PP T | -.- L1 1 -.-
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (2,5,0)

AT zr1e+04 /25
4215+ 0.0
-35.8+ 0.0

1
50 100

TP delay

TVC(cbch) (2,54

[ns]
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TVC(chh) (2,12,1)

F PO

A7 1 nuiLbose+ud [ 25
4207+ 0.0
p1 -38.04+ 0.00

TP delay

TVC(cbch) (2,125

F- pO

[ns]

- 1nui4lze+04 [ 25
4230+ 0.0
pl -36.53 + 0.00

TP delay

TVCEbeN)=(2, 12,9

[ns]

T nu, 110e+u4 / 25
4228+ 0.0
pl -35.58 + 0.00

TP delay

TVC(cbch) (212,13

war

= po

[ns]

)

- 1321125
4228+ 0.0
pl -34.73+ 0.00

TP delay

[ns]
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1000

TVC(CbCh) (2, 12 2)

TP delay [ns]

TVC(cbch) (2.12,6

T ze+u4 [ 25
_- pO 4218+ 0.0
L pl -37.27+ 0.00

3000

T il 3ze+04 [ 25
pe, pO 4236+ 0.0
[ pl -36.49 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

© 1 nuiz.a4pe+04 | 25
-, po 4235+ 0.0
- pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (212,14

~ 1 nuiLpuye+ud / 25
4243+ 0.0
-35.7+ 0.0
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50 100

TP delay [ns]
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1000
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1000
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2000

1000

TVC(Cbch) (2,12,3)

po

AT 1 nuiLoloe+ud [ 25
4217+ 0.0
p1 -36.44 + 0.00

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

S nun1.43e+04 /25
4266+ 0.0
pl -37.45+ 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

T inuiLys/e+ud [ 25
4238+ 0.0
pl -35.01+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nui b40e+u4 / 25
4233+ 0.0
p1 -34.99 + 0.00

TP delay

[ns]
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1000
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2000

1000

TVC(CbCh) (2, 13 0)

© i gove+u4 [ 25
.. pO 4203+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (2,134

- i bz1e+u4 / 25
pO 4239+ 0.0
pl -39.89+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T L, rzge+04 | 25
- pO 4204+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (213,12

T, ryze+u4 | 25
- po 4230+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(chh) (2,13,1)

3000

2000

1000

A1 Ui sYae+ud [ 25
4000 fm,, po 4221% 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c, bch) (2,135

4000 =

3000

2000

1000

~ 1 nui B3ye+u4 / 25
- pO 4242+ 0.0
pL -39.38+ 0.00

TP delay [ns]

TVCEben)=(2 13,9

4000

3000

2000

1000

T nu. by /e+ud [ 25
4228+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(cbch) (213,13

4000 [
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2000

1000

~ 1 nuiLvoge+ud / 25
pO 4224+ 0.0
-35.91+ 0.00

PR U S S |
50 100

TP delay [ns]
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1000
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3000
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1000
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3000
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1000

4000

3000
2000

1000

TVC(CbCh) (2,13,2)

TP delay [ns]

TVC(cbch) (2,136

K™ 1 nuiouze+ud / 25
. po 4211+ 0.0
o pl -36.31+ 0.00

3000

T rnunLy3/e+ud [ 25
pO 4253+ 0.0
pl -39.49+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 13, 10)

© i, ro4e+04 [ 25
-, po 4239+ 0.0
- pl -35.26 + 0.00

TP delay [ns]

TVC(cbch) (2.13,14)

T 1ze+04 [ 25
- pD 4228+ 0.0
L -35.81+ 0.00
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50 100

TP delay [ns]

4000 [u

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

po 4225+ 0.0
pl -36.83+ 0.00

AT 1nun Loze+ud [ 25

TP delay [ns]

TVC(c, bch) (2,137

pl -38.99+ 0.00

F pO

-1 nui Byye+u4 / 25
4255+ 0.0

TP delay [ns]

TVC(ehoh)=(2,13, 11

e pO 4240% 0.0
pL -36.19+ 0.00

1 1y/e+ud [ 25

TP delay [ns]

TVC(cbch) (213,15

P pO 4228+ 0.0

1L, rove+u4 / 25

35.52 + 0.00

TP delay [ns]
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TVC(CbCh) (2, 14 0)

T rnuiLuzae+u4 [ 25
4172+ 0.0
-35.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,144

-y ize+04 [ 25
™, pO 4182+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T 3.3/e+04 /25
= po 4227+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (214,12

1L pose+u4 / 25
= po 4212+ 0.0
pl -35.58 + 0.00

TP delay [ns]
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TVC(chh) (2, 14 1)

- zbzerud 25
pese,, pO 4177+ 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c, bch) (2,145

~ 1 nui 3b/e+04 / 25
e pO 4211 0.0
pL -37.19+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

T nug.uz/e+ud [ 25
= po 4250+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (214,13

Tinai g r4e+u4 [ 25
- pO 4213+ 0.0
pl -36.97 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (2, 14 2)

T rnuiLuroe+u4 / 25
o=, pO 4176+ 0.0
L pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (2.14,6

T rnunL413e+04 / 25
- pO 4216+ 0.0
3 pl -36.43+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1000

0

T rnuzusle+ud [ 25
=, po 4259+ 0.0
- pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (214,14

T Lo e+u4 [ 25
-, pD 4211+ 0.0
+ pl -36.12+ 0.00
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TP delay [ns]
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1000

TVC(Cbch) (2,14,3)

AT rmuiLu/ie+ud /25
- po 4181+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

- i 33ze+04 / 25
- pO 4212+ 0.0
pL -35.98+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 14 11

T nui yzse+ud [ 25
- po 4263+ 0.0
p1 -37.45 + 0.00

TP delay [ns]

TVC(cbch) (214,15

T nui osse+ud [ 25
- pO 4212+ 0.0
p1 -35.77 + 0.00

TP delay [ns]
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TVC(CbCh) (2, 15 0)

T rnuiL4r0e+U4 /25
P pO 4174+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (2,154

-1 b4aze+u4 [ 25
- pO 4189+ 0.0
pl -35.57:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T z.4ze+04 /25
- pO 4211+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T Lo /e+u4 [ 25
= po 4218+ 0.0
pl -35.18+ 0.00

TP delay [ns]

TVC(chh) (2,15,1)
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AT 1 nuiLzyve+u4 [ 25
4000 e po 4185+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(cbch) (2,155
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1000

-1 nui 438e+04 / 25
pO 4186+ 0.0
pL -34.58+ 0.00

TP delay [ns]

TVC(ebeh)=(2 15,9
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2000

1000

T inun. 1 /oe+ud [ 25
po 4238+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (215,13
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1000 [~

T nuiLvoae+ud /25
pO 4208+ 0.0
-34.78 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (2, 15 2)

T rnuiLzroe+ud [ 25
P pO 4190+ 0.0
L pl -35.49+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

- nuib11e+u4 / 25
- pO 4199+ 0.0
[ pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

©1nuiz.4zpe+04 | 25
e, po 4266+ 0.0
o pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

~1nuiLbyse+u4 [ 25
- pD 4223+ 0.0
L -35.3+ 0.0

3000
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50 100

TP delay [ns]
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2000

TVC(Cbch) (2,15,3)

AT 1 nuiL4use+u4 [ 25
- po 4196 + 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c, bch) (2,157

-1 nui bble+ud / 25
- pO 4211£ 0.0
pL -35.97+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(2, 15, 11

1 nui g44e+04 / 25
= po 4238+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tinuiss/e+ud [ 25
e pO 4211+ 0.0
p1 -33.17+ 0.00

10 C = 30.15 [ps/ch] ™.,

PR
50

1
100

TP delay [ns]
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TVC(cbch) (3,0,0)

X~ 1 i buve+U4 [ 25
4203+ 0.0
-38+ 0.0

= po
pl
1 1=
50 100
TP delay [ns]
TVC(cbch) (3 0,4

- 1L Bu3e+ud / 25
4215+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(cbch) (3 0,8

_ - s 51ae+04 1 25
e po 4167+ 0.0
p1 -33.91+ 0.00

4000
3000 - 71
2000~ 7]
oF C = 29.49 [ps/ch]™,_ ]
1 1 -
o 50 00
TP delay [ns]
TVC(cbch) (3,0,12)
T nuiLsyoe+ud / 25
4000 po 4239+ 0.0
pl -35.57 + 0.00
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TVC(cbch) (3,0,1)

F. po

pl

AT 1 nuiL3Yoe+u4 [ 25
4173+ 0.0
-36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

“nu13/e+04 /25
4207+ 0.0
-36.6 + 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (3 0,9

-1 nuiL Ubye+us / 25
= pO 4211+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, O 13

TinuiLgs/e+ud [ 25
4223+ 0.0
-35.64+ 0.00

TP delay [ns]
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TVC(cbch) (3,0,2)
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pl

A~ 1 nuiL 4o0e+u4 / 25
4192+ 0.0
-37.06 + 0.00

50 100
TP delay [ns]
TVC(c,b ch) (3, 0 6
4000
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pO
p1

T 1nu,144e+04 | 25
4229+ 0.0
-37.96 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

4000

3000:— ]
2000:— _:
ol C = 29.43 [ps/ch]™, 1

) 4 o

4000

3000
2000

1000

- nuizoZ1e+04 1 25
pO 4201% 0.0
p1 -33.98:+ 0.00

TP delay [ns]

TVC(cbch) (3,0,14

= P"

pl

- 1L yore+ud [ 25
4233+ 0.0
-36.07 + 0.00

TP delay [ns]
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e po

AT 1nuiLgn/e+u4 [ 25
4200+ 0.0
-37.03+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

“rnu1/oe+u4 / 25
4237+ 0.0
-37.89+ 0.00

50 00

TP delay [ns]

TVC(c,b ch) (3, O

T zz::e+u4/25
= po 4208+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3, O 15

T nuiy4ve+ud [ 25
4217+ 0.0
-34.62+ 0.00

TP delay [ns]
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TVC(cbch) (3,1,0)

A7 1 nui ouoe+ud / 25
4179+ 0.0
-37.06 + 0.00

TP delay [ns]

TVC(cbch) (31,4

C pO
pL

- rnuz,01se+u4 / 25
4200+ 0.0
-35.98 + 0.00

TP delay [ns]

TVC(cbch) (3 1,8

Sy,
e, pO
p1

r93e+u4 /25
4190+ 0.0
-35.32+ 0.00

TP delay [ns]

TVC(cbch) (31,12

© i bzve+u4 [ 25
4212+ 0.0
-34.61+ 0.00

TP delay [ns]
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TVC(cbch) (3,1,1)
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A~ 1 nuiLbb/e+ud /25
4187+ 0.0
-36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nui g1be+u4 / 25
4188+ 0.0
-35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

= po

<1 nup.Usbe+ud / 25
4196+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,13

T nuiLplae+ud [ 25
4220+ 0.0
-36.63+ 0.00

TP delay [ns]
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TVC(cbch) (3,1,2)
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4179+ 0.0
-36.14 + 0.00

Ao,

F, po
pl

TP delay [ns]

TVC(cbch) (3,1,6

pO
p1

-1 nuLy1ye+ud / 25
4206+ 0.0
-36.12 + 0.00

TP delay [ns]

TVC(cbch) (3, 1 10

- DO

© 1 nuzpgbe+u4 | 25
4195+ 0.0
-34.89 + 0.00

pl

TP delay [ns]

TVC(cbch) (31,14

- PD

T rnuiLb41e+04 /25
4208+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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TVC(cbch) (3,1,3)

o po

AT 1 nuiLy4ze+u4 | 25
4201+ 0.0
pl -36.06 + 0.00

TP delay

TVC(c,b ch) (3 1,7

e pO

[ns]

-1 nuz.0uye+ud / 25
4218+ 0.0
pl -36.54 + 0.00

50 1(;0
TP delay

TVC(eho)=(3,1, 11

[ns]

~ 1 nuiy4ae+u4 / 25
4212+ 0.0
pl -36.16 + 0.00

TP delay

TVC(cbch) (31,15

[ns]

T inai4zae+u4 [ 25
4218+ 0.0
p1 -35.16+ 0.00

TP delay

[ns]
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TVC(cbch) (3,2,0

A~ 1 nun Sgse+u4 / 25
=N po 4168+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(cbch) (3,24

= 1w 913e+04 / 25
F.. po 4177+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,8

- iz Zobe+ud [ 25
= pD 42213 0.0
p1 -35.62:+ 0.00

TP delay [ns]

TVC(cbch) (3,212

- 1 i pYse+u4 / 25
= po 4225+ 0.0
pl -35.42:+ 0.00

TP delay [ns]
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TVC(cbch) (3,21

A~ 1 nuiLboze+u4 [ 25
oo, po 4189+ 0.0
p1 -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

T rnun 1.yse+u4 [ 25
e, pO 4202+ 0.0
p1 -36.86+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

- b 418e+U4 ] 25
- pO 4234% 0.0
pL -36.36+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

T inai 45e+u4 / 25
= pO 4225+ 0.0
pl -35.73+ 0.00

TP delay [ns]
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TVC(cbch) (3,2,2)

X~ r33e+U4 /25
P po 4194+ 0.0
L pl -37.4+ 0.0

- C = 26.74 [pslc ]

1
50 100

TP delay [ns]

TVC(cbch) (32,6

- 1nuz,u8le+u4 / 25
- pO 4200+ 0.0
[ pl -36.33+ 0.00

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

-1 s sze+04 | 25
= po 4275 0.0
L pl -38.16+ 0.00

TP delay [ns]

TVC(cbch) (3,214

T i b43e+04 / 25
4219+ 0.0
-35.3+ 0.0

P PR TR |
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~nun Love+ud [ 25
4195+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 nui 9ule+ud / 25
4206+ 0.0
-35.72+ 0.00

1
100

TP delay [ns]

TVC(eheh=(3, 2,

= pO

T, 14be+u4/25
4268+ 0.0
-37.22+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3, 2 15

T nui o3ve+ud [ 25
4234+ 0.0
-35.27 + 0.00

1
100

TP delay [ns]
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TVC(cbch) (3,3,0

AT 1nuiasie+04 /25
P, po 4188+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (33,4

- i zgye+ud | 25
= pO 4209+ 0.0
p1 -34.19+ 0.00

[ C =29.25 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

L, rove+u4 [ 25
= pO 4211+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (3,312

T g rve+u4 [ 25
pO 4231+ 0.0
pl -35.83+ 0.00

TP delay [ns]
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3000

2000

1000

TVC(cbch) (3,3,1

A1 L 5ave+U4 | 25
Fee,, po 4196 + 0.0
pL -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nui 340e+04 / 25
- pO 4222+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nuw sz4e+04 / 25
= po 4220+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(cbch) (3,313

Tanan g oe+ud [ 25
pO 4233+ 0.0
pl -35.95+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3,3,2)

A7 1 nuiozye+u4 /25
- po 4212+ 0.0
o pl -35.93+ 0.00
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TP delay [ns]

TVC(cbch) (3,36

T nun14ee+04 /25
- pO 4231+ 0.0
- pl -35.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

~ 1 nuiz,yebe+ud | 25
- po 4249+ 0.0
- pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

© i bEse+U4 [ 25
4216+ 0.0
-35.9+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

e po

AT rnuiLsole+ud [ 25
4211+ 0.0
-34.51+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

-1 nui 4nye+04 / 25
4247+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch]

_L

50

1
100

TP delay [ns]

TVC(c,b ch) (3, 3

. pO

pl

T, /s/e+u4/25
4249+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

T nuiLob/e+ud [ 25
4237+ 0.0
-36.45+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

AT 1nuiLorye+ud /25
Peee.. po 4193+ 0.0
pl -36.69 = 0.00

TP delay [ns]

TVC(cbch) (34,4

- i byge+ud [ 25
- pO 4227+ 0.0
pl -36.05:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

©1nuzbz9e+U4 | 25
= po 4210+ 0.0
p1 -34.32+ 0.00

I C =29.14 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,4,12

T L4 e+04 /25
= po 4235+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 1 nunLruve+ud [ 25
pee,, po 4190+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

-1 nui ba3e+u4 [ 25
- pO 4232+ 0.0
pL -36.71% 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

-1 nug yuze+ud / 25
= po 4229+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (3,4,13

TinuiLys/e+ud [ 25
- pO 4222+ 0.0
pl -37.27+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (3,4,2)

AT rzse+04 /25
- po 4186+ 0.0
+ pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

- 1L b1ge+ud / 25
- pO 4240+ 0.0
[ pl -37.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

1 nuzpoye+ud | 25
4239+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (3,4,14

~ 1 nuiLpoze+u4 / 25
= pD 4222+ 0.0
L p1 -36.87 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

A~ 1 nuiLbyae+U4 [ 25
oes, po 4205+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- 1nui4nle+u4 / 25
- pO 4247+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T, m::e+u4/25
e pO 4244+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tonair4/e+04 /25
P, 4224+ 0.0
-36.1+ 0.0

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 1 nui zsoe+ud [ 25
Frcea. po 4200+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

T 144e+04 /25
E pO 4213+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

T g 341e+04 / 25
- po 4239+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

1L page+u4 [ 25
e po 4293+ 0.0
pl -36.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

ALz (e+U4 ] 25
I e po 4227+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

=1 nui byve+u4 / 25
=3 4203+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch] -]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

-1 nu.oz8e+u4 / 25
- po 4269+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (3,5,13

Tinun g poe+ud [ 25
e, pO 4281+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

K™ 1 nui4uoe+u4 / 25
_l po 4231+ 0.0
- pl -35.88+ 0.00

-1 nurLbu3e+ud / 25
fo, pO 4207+ 0.0
[ pl -34.36+ 0.00

- C = 29.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

1 nuz 3yge+u4 | 25
- po 4283+ 0.0
- pl -34.92 + 0.00

- C = 28.64 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T rnuiLbEe+u4 [ 25
- pD 4281+ 0.0
| pl -36.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1 nuiLSr4e+U4 [ 25
s, po 4239+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

- nui br4e+04 [ 25
- pO 4219+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

SRR b‘JBe+U4/25
- po 4288+ 0.0
pl -35.02+ 0.00

I C =28.56 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nui oy /e+ud [ 25
- pO 4294+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

AT nuis1ze+04 /25
.. po 4174+ 0.0
p1 -34.14+ 0.00

TP delay [ns]

TVC(cbch) (36,4

-1 i 480e+04 / 25
- pO 4239+ 0.0
367+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

T rnuiz4r4e+04 /25
- po 4228+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T L psve+u4 / 25
= po 4220+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

X137 e+ud | 25
- po 4186 + 0.0
pL -34.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

“nui4/ze+04 [ 25
- pO 4255 0.0
pL -37.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

© 1 nug sz9e+u4 / 25
4255+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,6,13

T inai srae+ud [ 25
pO 4232+ 0.0
p1 -35.9+ 0.0

TP delay

[ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

AT 1nun ssze+04 /25
=, po 4202+ 0.0
L pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

T 3/1e+04 / 25
- pO 4257+ 0.0
[ pl -36.89+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (3, 6 10

T 1L yzze+u4 | 25
= po 4248+ 0.0
- pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

T rnuiLa41e+04 /25
4244+ 0.0
-36.5+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

x- 1L rae+Ud [ 25
pe=. po 4191+ 0.0
pL -34.59+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui bbye+ud / 25
- pO 4260+ 0.0
pL -37.89+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T, /we+u4/25
= po 4263+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T nuipuse+ud / 25
pO 4238+ 0.0
p1 -35.6+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 1 nui sooe+ud / 25
.. po 4195+ 0.0
pl -35.16+ 0.00

TP delay [ns]

TVC(cbch) (37,4

- i 3pze+04 / 25
e, pO 4204+ 0.0
p1 -35.46+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T zule+ud /25
= po 4212+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

A1,

rove+u4 /25
4224+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT rnuLsize+ud [ 25
P, po 4199+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 38Ye+u4 / 25
e, pO 4193 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nu.ayve+ud [ 25
po 4238+ 0.0
pl -36.55 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

= pO

T nuiLpzve+ud / 25
4207+ 0.0
-34.99+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

K™ 1 nuiog0e+04 /25
_- po 4214+ 0.0
o pl -36.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- rnuiLbz4e+04 [ 25
[F-e. pO 4211% 0.0
[ pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

TrnuiLyr1e+u4 /25
= po 4253+ 0.0
- pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (3,7,14

pD
pl

T nuiLb3e+u4 [ 25
4208+ 0.0
-34.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1L obye+ud [ 25
=, po 4215+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nui 481e+04 / 25
- pO 4225+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

AN UbHe+U4/25
= po 4252+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

T nui v4ve+ud [ 25
4214+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A~ 1 nui s48e+u4 25
- po 4217+ 0.0
p1 -37.32+ 0.00

TP delay [ns]

TVC(cbch) (3,84

T L 3u/e+u4 / 25
pO 4221 0.0
p1 -35.31 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 8,8

i fo1e+U4 1 25
pD 4248+ 0.0
p1 -38.23 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,812

©rnuiL4yse+ud [ 25
pO 4237+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

X1 daverud | 25
- po 4196+ 0.0
pL -35.47 £ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

= nur 1749e+04 /25
po 4208+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

<1 nub.obbe+ud / 25
pO 4264+ 0.0
p1 -37.58 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

Tinuialse+ud [ 25
pO 4233+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

1000

S 1revud /25
- pO 4198+ 0.0
[ pL -35.93  0.00

3000

TP delay [ns]

TVC(cbch) (3,86

1000

-1 i 498e+04 [ 25
- pO 4216+ 0.0
[ pl -35.19+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

1000

0

- iz bbae+U4 [ 25
- pO 4270+ 0.0
[ pL -37.94 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

1 nuiL400e+04 / 25
- pD 4231+ 0.0
[ p1 -36.33+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

A~ 1 nuiLbroe+ud [ 25
- po 4228+ 0.0
pL -37.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 8,7

= 1 nui byve+ud / 25
= po 4237+ 0.0
p1 -36.08 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, 8

T 55be+l}4/25
= pO 4274+ 0.0
pl -38.07 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15

Tinaiarze+ud 25
e pO 4241+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



TVC(c,b Ch) (3,9,0) TVC(c,b Ch) (3,9,1) TVC(c,b Ch) (3,9,2) TVC(c,b Ch) (3,9,3)
A~ 1 L dooe+Ud 1 25 X~ 1L rae+04 1 25 K~ 1 dsser0d [ 25 X~ 1 L dyoe+Ud ] 25
4000 fmm,, po 4213+ 0.0 4000 fe,, po 4230+ 0.0 4000 fm PO 4229+ 0.0 4000 fs PO 4228+ 0.0
Pl 35451000 Pl -35.96% 0.00 L PL_ -35.72% 0.00 Pl -34.87% 0.00

3000

E 3000 - 3000 - 3000 4

2000 -1 2000 = 2000 = 2000

1000 E 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

“ g 2U‘:)e+04 125 T b)dye+04/25 “ g l‘?‘:}be+U4 125 T nar )4/E+04/25
4000 [, pO 4207+ 0.0 4000 Fem, pO 4215+ 0.0 4000 fme, pO 4230+ 0.0 4000 fs pO 4240+ 0.0
349+ 0.0 Pl 35963 0.00 [ Pl -35.86% 0.00 Pl 3497000
3000 - 3000 E 3000 ] 3000 - g
2000 ] 2000 b 2000 3 2000 1
1000 1 1000 B woor C = 27.89 [ps/ch ] lo00r C = 28.59 [ps/ch] 7]
1 ' 1 [ 1 -
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T z.4ne+04 /25 ~ 1 nu B48e+U4 | 25 T nugsze+u4 [ 25 Tnuz3/3e+u4 /25
4000 o, pO 4214+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4248+ 0.0 4000 o, p0 4254+ 0.0
pl -34.85+ 0.00 pl -35.42 + 0.00 F pl -34.83+ 0.00 pl -35.88+ 0.00

e 3000

3000 N 3000 - 3000 1

2000 1 2000 2000 ] 2000

1000 ] 1000 1000F 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T L gsze+u4 [ 25 T nui goze+ud [ 25 ~ i, rose+u4 [ 25 Tanai g rse+ud [ 25
4000 = pO 4269+ 0.0 4000 [, pO 424700 4000 [, PD 4253 0.0 4000 o, po 4246£ 0.0
pl -36.48 + 0.00 pl -36.62+ 0.00 F pl -37.75+ 0.00 pl -36.89 + 0.00

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (3,10,0) TVC(cbch) (3,10, 1) TVC(cbch) (3,10,2) TVC(cbch) (3,10,3)

T rnuiL4y1e+u4 /25 AT rnuiLoloe+ud /25 K™ 1 nui oose+u4 / 25 AT 1L ssse+ud [ 25
PO 4218+ 0.0 4000 - po 4219+ 0.0 4000 __- po 4217+ 0.0 4000 [ po 4218+ 0.0
pl -36.86+ 0.00 pl -37.83+ 0.00 : pl -37.32+ 0.00 pl -35.92+ 0.00

- 3000

4000 e

3000 - 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (3,10,4

T b4 /e+04 [ 25
- pO 4203 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

“nuiLyg/e+u4 / 25
[ pO 4249+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (310,12

S 1oe+ud /25
F= pO 4233+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,5

S nui//1e+04 / 25
e, pO 4211 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c, bch) (3, 10 9

T 4.53e+04 / 25
= pO 4262+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (310,13

[ C =29.24 [ps/ch]

T bpre+ud [ 25
- PO 4232% 0.0
pl -34.2+ 0.0

PR U S S |
50 100

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TP delay [ns]

TVC(cbch) (3,10,6

=1 nur bebe+u4 [ 25
pO 4222+ 0.0
pl -36.51+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (3, 10 10

T, (zbe+u4 | 25
DO 4275+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (3.10,14

T bzse+u4 [ 25
PD 4234+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,7

- nu s1ye+u4 / 25
= PO 4231% 0.0
pL -37.85+ 0.00

50 100
TP delay [ns]

TVC(cbch) (3, 10 1

T rb4e+u4 [ 25
= p0 4273+ 0.0
pL -35.87  0.00

TP delay [ns]

TVC(cbch) (3,10,15

T bzbe+u4 [ 25
- po 4223400
pl -35.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)
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